# Project Name: Rose Avenue Bike Lanes - Phase I Spec. No. RD21-01 Abstract of Bids opened on Jan. 12, 2021

ENGINEER'S ESTIMATE: 1,350,000.00

LOW BIDDER - Toro Enterprises, Inc. Oxnard, CA 93031	1,155,602.00
2nd Bidder - Onyx Paving Company, Inc. Anaheim, CA 92806	1,177,000.00
3rd Bidder - Granite Construction Company Ventura, CA 93003	1,308,560.00
4th Bidder - J&H Engineering General Contactors, Inc. Camarillo, CA 93012	1,424,214.00

The undersigned certifies that the bids abstracted above were received on behalf of the Board of Supervisors, County of Ventura, at the time and place designated in the Notice Inviting Bids, were publicly opened, read, and were checked.

Director, Engineering Services Department

Bids o	pened on Jan. 12, 2021			ENGINEER'S	ESTIMATE	LOW BIDDER		2nd Bidder	
	Name: Rose Avenue Bike Lanes - Phase I	1				Toro Enterprises, I	nc.	Onyx Paving Comp	
1 10,00	trumo. Ross Aremas Bitts	ľ				P. O. Box 6285		2890 East La Cres	ta Ave.
1						Oxnard, CA 93031		Anaheim, CA 9280	6
	Spec. No. RD21-01							1	
ITEM						LINIT BRIDE	TOTAL	UNIT PRICE	TOTAL
NO.	ITEM	UNIT	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	108,000.00	44,000.00	44,000.00
1	Mobilization	LS	1	81,099.00	81,099.00	108,000.00	· · · · · · · · · · · · · · · · · · ·	123,000.00	123,000.00
2	Traffic Control and Construction Signing	LS	1	80,000.00	80,000.00	60,000.00	60,000.00	'	21,241.00
3	Water Pollution Prevention	LS	1	10,000.00	10,000.00	7,500.00	7,500.00	21,241.00	23,980.00
4	6" PCC Curb & Gutter	LF	545	50.00	27,250.00	23.00	12,535.00	44.00	23,960.00 688.00
5	6" PCC Curb	LF	16	45.00	720.00	31.00	496.00	43.00	
6	48" x 48" x 36" Drainage Inlet	EA	2	7,000.00	14,000.00	9,000.00	18,000.00	9,500.00	19,000.00
7	Removal of Existing Trench Drain	LS	1	1,000.00	1,000.00	3,000.00	3,000.00	21,000.00	21,000.00
8	18" PVC Drain Pipe	LF	36	120.00	4,320.00	188.00	6,768.00	250.00	9,000.00
9	2-Sack Cement Slurry Trench Backfill	CY	12	220.00	2,640.00		2,520.00	300.00	3,600.00
10	4.75' Depth Percolation Trench	LF	130	65.00	8,450.00		14,820.00	100.00	13,000.00
11	12" PVC Perforated Pipe	LF	124	75.00	9,300.00		3,596.00	100.00	12,400.00
12	7" Thick AC Pavement Widening & Repair	TN	5200	140.00	728,000.00	118.00	613,600.00	111.00	577,200.00
13	AC Leveling Course	TN	176	120.00	21,120.00	119.00	20,944.00	111.00	19,536.00
14	AC Driveway Approach & Misc. Paving	TN	36	350.00	12,600.00	290.00	10,440.00	366.00	13,176.00
15	AC Pavement Micro-milling	LF	74100	0.50	37,050.00	0.20	14,820.00	0.33	24,453.00
16	Surface Preparation & Crack Sealing	LS	1	30,000.00	30,000.00	31,600.00	31,600.00	27,000.00	27,000.00
17	Type II Emulsion-Aggregate Slurry with Fiber	SY	50100	3.00	150,300.00	2.68	134,268.00	2.25	112,725.00
18	PMB Shoulder Backing	MI	2.3	18,000.00	41,400.00	8,780.00	20,194.00	10,000.00	23,000.00
19	Traffic Signal Loop Detector Replacement	EA	30	525.00	15,750.00	450.00	13,500.00	400.00	12,000.00
20	Pavement Delineation, Striping & Signs	LS	1	75,000.00	75,000.00	59,000.00	59,000.00	77,000.00	77,000.00
21	Release on Contract	LS	1	1.00	1.00	1.00	1.00	1.00	1.00
	TOTAL				1,350,000.00		1,155,602.00		1,177,000.00

Copies: Director PWA, PM: Ariel Braza, Y. Perez

## COUNTY OF VENTURA - PUBLIC WORKS AGENCY

5.1		3rd Bidder		4th Bidder	
	pened on Jan. 12, 2021	Granite Constructio	n Company		eneral Contactors, Inc
Project	Name: Rose Avenue Bike Lanes - Phase I	4820 McGrath St. #		4065 Mission Oaks	
		100		Camarillo, CA 9301	•
		Ventura, CA 93003		Camarillo, OA 3001	_
	Spec. No. RD21-01		rr		
ITEM NO.	ITEM	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization	111,389.00	111,389.00	50,000.00	50,000.00
2	Traffic Control and Construction Signing	44,000.00	44,000.00	75,000.00	75,000.00
3	Water Pollution Prevention	4,500.00	4,500.00	8,500.00	8,500.00
4	6" PCC Curb & Gutter	35.00	19,075.00	65.00	35,425.00
5	6" PCC Curb	35.00	560.00	40.00	640.00
6	48" x 48" x 36" Drainage Inlet	5,600.00	11,200.00	6,500.00	13,000.00
7	Removal of Existing Trench Drain	5,000.00	5,000.00	2,500.00	2,500.00
8	18" PVC Drain Pipe	450.00	16,200.00	100.00	3,600.00
9	2-Sack Cement Slurry Trench Backfill	128.00	1,536.00	250.00	3,000.00
10	4.75' Depth Percolation Trench	120.00	15,600.00	45.00	5,850.00
11	12" PVC Perforated Pipe	25.00	3,100.00	45.00	5,580.00
12	7" Thick AC Pavement Widening & Repair	150.00	780,000.00	165.00	858,000.00
13	AC Leveling Course	150.00	26,400.00	200.00	35,200.00
14	AC Driveway Approach & Misc. Paving	250.00	9,000.00	350.00	12,600.00
15	AC Pavement Micro-milling	0.23	17,043.00	0.25	18,525.00
16	Surface Preparation & Crack Sealing	29,000.00	29,000.00	35,000.00	35,000.00
17	Type II Emulsion-Aggregate Slurry with Fiber	2.57	128,757.00	2.93	146,793.00
18	PMB Shoulder Backing	7,500.00	17,250.00	15,000.00	34,500.00
19	Traffic Signal Loop Detector Replacement	365.00	10,950.00	450.00	13,500.00
20	Pavement Delineation, Striping & Signs	57,999.00	57,999.00	67,000.00	67,000.00
21	Release on Contract	1.00	1.00	1.00	1.00
	TOTAL		1,308,560.00		1,424,214.00

Copies: Director PWA, PM: Ariel Braza, Y. Perez

Spec. No. RD21-01 Project No. 50575

#### **PROPOSAL**

Contractor's Name

TORO ENTERPRISES, INC.

### List of Subcontractors

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Business Address	Items of Work
TAPT ELECTRIC COMPANY	772245	VENTURA I CA	TRAFFIC
CASE LAND SURJEVING INL	15411	ORANGE, CA	SURVEY
ALL AMERICAN ASPADLT	267073	CORONA, CA	TYPETI
CHRISP	374400	RIALTO, CA	PAVEMBLED &

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

NOTE: Contractor shall perform, with its own organization, contrct work amounting to at least 50 percent of the Contract Price. See Specifications Section 2-3.2 for exceptions.

Spec. No. RD21-01 Project No. 50575

#### **PROPOSAL**

Contractor's Name

ONYX PAVING COMPANY, INC.

### List of Subcontractors

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Business Address	Items of Work
PAVEMENT REHAB COMPANY	1051374	1181 PRINCESS CT COSTA MESA, CA	#16 CRACK SEAL
SUPERIOR PAVEMENT MARKINGS	776306	5312 CYPRESS ST CYPRESS, CA	#20 SIGN/STRIPE
CALIFORNIA PROFESSIONAL ENGINEERING, INC	793907	19062 SAN JOSE AVE LA PUENTE, CA	#19 LOOPS
ROY ALLAN SLURRY SEAL INC	372798	11922 BLOOMFIELD AVE SANTA FE SPRINGS, CA	#17 SLURRY
		<u>:::</u> .	

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

NOTE: Contractor shall perform, with its own organization, contrct work amounting to at least 50 percent of the Contract Price. See Specifications Section 2-3.2 for exceptions.